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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
maltrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘T’ can
be represented by 24, 97, etc., and ‘M’ can be represented by 11, 66, etc.
Similarly, you have to identify the set for the word “GAIN”

U Qg Aol TH FEAT-HAE G g ¥, ot b Rwedr A @
el v & far mar ¥ fweut A Rr v dwarasg Rt & Q) anf
gRT goife are § Star 5 Bu v g smeget 7 ) sneypl b waen iR
ufh i @Ear 0 ¥ 4 ¢ IR wegEn A 5 T 91 3T PRl ¥ UH HER
A Ugal 3EH Ui AR g F T @E g’ R S AT §
3ERI0T & U ‘T 24, 97, 3NfE RT GRAAT I Fehal & AT ‘M B 11,
66, 3G gRT GMAT ST WHhal ¢l W e & UM wA & [U Qg
“GAIN” & AT T @ ugaEar &

Matrix-I Matrix-ll
- -l
011|234 5|/6|7(8]9
0| X|K|D|F|X 51Z|C|{W|G]| I
1{GIM|[N|H|V 6|KIM[O|Q|S
2|E|]O|Y[J]|T 7T|{UW[Y|[B|A
3|C|F|[I|L[R 8|F|H[G|L|N
4 |A|S[{U|IN|[P 91A|R|T|V|X

Options:
1) 10, 79, 59, 41

2) 87,40,32,12
3) 56,79,32,43

4) 58, 69, 59, 89
Correct Answer: 87, 40, 32,12
Candidate Answer: 87, 40, 32,12

QID:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& ¢ 3R WPt F ¥ 3@ W HPA A gAT
S & oy apla @fka &

N
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N
A
O

Correct Answer:

O

Candidate Answer:

O

QID:5-

Which answer figure will complete the pattern in the
question figure?

Fig @ IR FPlad UF JHla & ulAwTT & @
HIIN?

N
X 2
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Options:
1)

[

w
-

)
=

ZIV

Correct Answer:

RRIE

Candidate Answer:

S

QID:6-
If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg e gdoT @ AB X1 W @1 S, ar & TS
IR el # ¥ Fa @ pla wy gy Hr
e ufafasa aefr?
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Options:
1)

Correct Answer:

Candidate Answer:

QiD:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

T & uy Fpfaal # @ IgER FEE @
A B JUT Tl & I8 TE BhE IO IE
s s e

Ik
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Options:
1)

O

) 1) [©

Correct Answer:

()

Candidate Answer:

[©)

QID : 8 - If 'A' means '+, 'B' means '-, 'C' means '+' and 'D' means 'x', then
14A7C2D6B1=?
TR A ef '+, B e =, °C T oef '+ T D e ',

14A7C2D6B1=?
Options:

1) 34

2)74

3)35

4) 46

Correct Answer: 34
Candidate Answer: 34

QID:9-1f12%6+3=15and 15% 3 + 4 = 14, then
17%6+2=7
afE12% 6+3=15daM15% 3+ 4 =148 a

17%6+2=?
Options:

1) 23

2) 22

3) 21

4)25

Correct Answer: 21
Candidate Answer: 21
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QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Nest

2. Needle
3. Nested
4. Newly
5. Needy

Frfefd <reai @t ereaenler 7 o aret o & SR ford |
1. Nest

2. Needle

3. Nested

4. Newly
5. Needy

Options:
1) 25134
2) 25143
3) 52143

4) 52134
Correct Answer: 25134
Candidate Answer: 52134

QID : 11 - In the following question, select the missing number from the given series.

39, 41, 44, 46,49, ?

FrafafEd us 7 g 1y faeed] & & @ sies 71 SIfSgl

39,41, 44, 46,49, ?

Options:

1) 52

2) 56

3) 51

4) 61

Correct Answer: 51

Candidate Answer: 51

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ABC, FGH, KLM, ?

ok 3reRd foam ma 8, foad 9@ e e g 81 R e fenedt & @ ag @@t faehe g, Sit srgehd Y g1 R

ABC, FGH, KLM, ?
Options:

1) PMO
2) NOP
3) PQR

4) OPQ
Correct Answer: PQR
Candidate Answer: PQR

QID : 13 - In the following question, select the odd word from the given alternatives.

Frafafed us 4 fag g fRreredt & & fww aree @t gfg)

Options:
1) Cake
Hep

2) Cup

Eas)

3) Plate

we

4) Spoon

T

Correct Answer: Cake

Candidate Answer: Cake

QID : 14 - In the following question, select the odd number pair from the given alternatives.

frafafa vsr & Ry 7y Rt § § v T g o6t gfgl
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Options:
1)11-122

2)9-82
3)5-26

4)10 -84
Correct Answer: 10 — 84
Candidate Answer: 10 — 84

QID : 15 - In the following question, select the odd letters from the given alternatives.

Frafafea v F Ry g Reredt & @ o s1eri o0t gfgl
Options:

1) AZ

2) HS

3)IR

4) CF

Correct Answer: CF

Candidate Answer: AZ

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
House, Bathroom, Kitchen
I ARG GG Sit A1 &g 71q T o ey o Fefey o1 gt feuor et 81

WR, TR, WS

Options:
1)

2

3

4

g ¥ @)

Correct Answer:

Candidate Answer:

QID : 17 - In the following question, select the related word from the given alternatives.
Pen : Stationery : : Chair : ?

frfafad ner § g mg fReredt § @ Faifla 2eg & gl

Herd : T gt gt ?

Download More Papers From GovtJobsAlert.In



. Download More Papers From GovtJobsAlert.In
1)pGarment

huST

2) Furniture

iR

3) Wood

ARt

4) Steel
LG
Correct Answer: Furniture

Candidate Answer: Furniture
TR

QID : 18 - In the following question, select the related number from the given alternatives.
11:123::13:?

Freafafea v F Ry g fReedt & @ H&fa g & gl

11:123::13:?

Options:

1) 169

2) 122

3)171

4) 146

Correct Answer: 171

Candidate Answer: 171

QID : 19 - In the following question, select the related letters from the given alternatives.
ANPO : NAOP : : PQRS : ?

frafafed us & Ry 7y et § § Fafa siart ot gfg)
ANPO : NAOP : : PQRS : ?

Options:

1) QPRS

2) PQRS

3) PQSR

4) QPSR
Correct Answer: QPSR
Candidate Answer: QPSR

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
OBSCURE
Frafafea faded § 9 98 1eg gHg St i3 7Y 21ea & S1erRi sl UaT ahech g1 S ST HeadT

OBSCURE

Options:
1) BOSE

2) CURE
3) RUST

4) SURE
Correct Answer: RUST
Candidate Answer: RUST

QID : 21 - Present age of A is 48 years. 7 years hence ages of A and B will be in ratio 5 : 6. What is the present age (in years) of B?

A G aA G 48 T g1 7 A 1€ A TUT B i 3G 5 : 6 % IIIUTA # gifT | B &Y oA 3y (It #) w82

Options:
1) 59

2) 60
3) 62

4) 54
Correct Answer: 59
Candidate Answer: [ NOT ANSWERED |

QID : 22 - Weight of P is thrice that of Q. Weight of Q is 1/2 of R. Weight of R is 4 times of S. Weight of Sis 1/5 of T. Who is the lightest?

P T TR Q &1 fRAT &1 Q AT ¥R R &1 1/2 &1 RHAT IR S &I 4 AT §1 S &I YR T &1 1/5 §1 TIY §eehl i 82

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:
1Q

2)s
3)P

4R
Correct Answer: S
Candidate Answer: S

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All cups are plates.
1. All books are cups.

Conclusions:
I. All plates are books.
1. All books are plates.

12 g g e F 3o Hem ok IS a1E I Ul W SR e s iy M &, grerifen 3 Ay ra deat @ R g wedt 81 wft e ud ok fiRr PefRa @R % Ry mg e
@ freend, fQ 7Q ST & SITUR R gReeTd &1

<hY:
. gff oy e &
1. g+ft &k &y E

freepef:

|. 9f wie gk 8|

1. g+ft gk wie &1

Options:

1) Only conclusion (1) follows.
e Freers (1) W 21

2) Only conclusion (lI) follows.
hae feent (1) w8 81

3) Both conclusion follow.
ST € foreendf @Et €1

4) Neither conclusion (I) nor conclusion (II) follows.

Tt P (1) 7 & Preep (1) <@ 21

Correct Answer: Only conclusion (ll) follows.

Fae s (1) 92t 81

Candidate Answer: Neither conclusion (1) nor conclusion (I1) follows.

72t P (1) 7 & Freep (1) <@ 21

QID : 24 - In a certain code language, "TWINKLE" is written as "GDRMPOV". How is "SHINE" written in that code language?

e fAfE s u7em &, "TWINKLE" ! "GDRMPOV" foar ST 81 39 st 9T § "SHINE" &t fohe wepr forar strgem?

Options:
1) HMVRS

2) TIRMH
3) HSRMV

4) HVRTG
Correct Answer: HSRMV
Candidate Answer: HSRMV

QID : 25 - In a certain code language, "TALKS" is written as "76342" and "PORE" is written as "9510". How is "AROSE" written in that code language?

T fAfr® s o §, "TALKS" @t "76342" 341 "PORE" &t "9510" foiaT STaT &1 39 ahis uuT & "AROSE" o fohg UepRR forar strgem?
Options:
1) 63521
2) 61520
3) 76590

4) 59142
Correct Answer: 61520
Candidate Answer: 61520

QID : 26 - If A = 27 x 3% and B = 3% x 23, then what is the value of A x B?

gfe A=27 x35quTB =3%x 23 8, Gt A x B o1 A T 82
Options:

1)210x310

2) 212 4 38

3) 612x 68

4) 221 )<335

Correct Answer: 210 x 310
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candidate Answer: 20 x 310

QID : 27 - Which of the following is NOT a prime number?

fFrafafad 3 @ o & 9 v ey g T8t @7
Options:

1) 61

2) 71

3) 69

4) 67

Correct Answer: 69

Candidate Answer: 69

QID : 28 - Which of the following statement(s) is/are true?

I. 2 is a prime number.
Il. 4 is a composite number.

fafofea 3 @ a9 9/ su g /82

1. 2 Qeh 3TST T=AT 21
II. 4 Qo Eg=h ST 1
Options:

1) Only |

Shad |

2) Only Il

Ghaet Il

3) Bothland Il

| T 1l

4) Neither I nor Il
Farlag

Correct Answer: Both l and Il

| a1 Y

Candidate Answer: Only |
e |

QID : 29 - What is the value of (0.2)2 + (0.02)2 + (0.002)2?

(0.2)2 + (0.02)2 + (0.002)2 o1 AT T &2

Options:

1) 2.404404
2) 0.040404
3) 0.00404
4) 0.00044

Correct Answer: 0.040404
Candidate Answer: 0.040404

QID : 30 -

What is the value of 231+ /81 + 256 ?

231+ 81+ /256 @1 AT FAT 2
Options:
1)12
2)14
3)15
4)16
Correct Answer: 16
Candidate Answer: 14

QID : 31 - How many positive factors of 132 are there?

132 & FTeH UFES fohdd 67

Options:
1) 10

2)12
3)9

4) 11
Correct Answer: 12
Candidate Answer: 9
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QID : 32- P, Q and R undertook a work for Rs 55000. Together P and Q complete (8/11)™ part of the work. What is the share (in Rs) of R?

P, Q @7 R 3 Uk i el 55000 & & foram| P aem Q e o &1 (8/11)-af 17T g1 v 1 R a1 3 (& H) 82

Options:
1) 20000
2) 22000
3) 15000
4) 6000

Correct Answer: 15000
Candidate Answer: 15000

QID : 33 - Two pipes A and B can fill a tank in 100 minutes and 120 minutes respectively. Pipe C can alone empty the same tank in 200 minutes. If all three pipes are
opened together, then in how many minutes will the tank be filled?

Sl Uty A 2T B Yeh Zhl Rl kT 100 e qur 120 fe & R Tord €1 a1su C 35t &t Y srahett 200 fAme & @reft iR Taram &1 afe goft it urdel oY ges any @it fean sma, at &t
forea e & R Smnft?

Options:

1) 100

2) 80

3)75

4)120

Correct Answer: 75
Candidate Answer: 75

QID : 34 - What is the area (in cm?) of the rhombus having side as 5 cm and one of the diagonal as 8 cm?

o GrEaqefst et oot 5 .1, & quT Ueh el 8 4.f). B, o1 ket (R.701.2 F) n 82
Options:

1) 25

2)24

3) 26

4)23
Correct Answer: 24
Candidate Answer: 24

QID : 35 - Aman purchased an article at a discount of 30% and sold it to Param at 40% profit. What is the ratio between the marked price and the price for which
Param purchased the article?

3 foneft o avg Y 30% 1 P TR WG § TUT 38 URH &l 40% o AT IR 99 3aT 5| Sifchd Je a1 o Hew R 0RA A a¥g &l @ieT 8, & f1 9 &1 SrguTd R 82
Options:

Correct Answer: 50 : 49
Candidate Answer: 50 : 49

QID : 36 - An article has marked price of Rs 6500 and is available at a discount of 20%. The shopkeeper gives another discount to the buyer and sells the article for Rs
4160. What is the second discount (in %) offered?

e g% o1 3ifehd Jed 6500 3 & TT 20% i P IR U & | GhIMGR UTedh i Goh SAfARTh BT &l & IUT axg i 4160 T H o9 a1 &1 T IR &1 718 e (% ) e 82
Options:

1) 20

2)10

3)30

4)15

Correct Answer: 20

Candidate Answer: 20

QID : 37 - Divide Rs 5100 among M, N and O so that M get (8/11)™ of N’s share and O gets (7/6)t" of M’s share. What is the share (in Rs) of N?

5100 ¥ @ M, N JuT O 7 39 UehR fA S &< & M @l N & <8 a1 (8/11)-at 1T et a1 O &t M & &< & (7/6)-at It et | N & e (3 °) am 82

Options:
1) 1488
2) 1980
3) 1680
4) 2200

Correct Answer: 1980
Candidate Answer: 1980

QID : 38 - Three numbers are in the ratio 2 : 4 : 5. If the sum of their squares is 1620, then what are the numbers?

AT E=E 2 : 4 : 5% T A g1 AT Ik T T AT 1620 §, o TAg s 8?
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Options:
1) 30, 36,12

2)12,24,30
3)12,30,20

4)10,12,36
Correct Answer: 12, 24, 30
Candidate Answer: 12, 24, 30

QID : 39 - The average of 6 consecutive numbers is 12.5. If next 3 numbers are also included, then what will be the new average?

6 SHATTTA STl ot Sfted 12.5 &1 afg srTelt 3 Temait vt off anfier o fovam g, &t = sftwa @am gim?
Options:

113

2)13.5

3)14

4)14.5
Correct Answer: 14
Candidate Answer: [ NOT ANSWERED ]

QID : 40 - A man buys a fan for Rs 35 and sells it for Rs 30. What is his loss percent?

ek Afth T AT 35 3 B WiedT & 9UT 39 30 3 H S9dr &1 39T g1 ufar o 82

Options:
1) 16.67

2) 25
3)20

4)14.28
Correct Answer: 14.28
Candidate Answer: 14.28

QID : 41 - An article is sold at a loss of 15%. If the selling price is doubled, then what will be the profit percentage?

e g ol 15% &1 g1 IR o1 ST 31 afe faeha e S e R S, ot ey wifcrra arm givm?
Options:

1)75

2) 50

3)70

4) 100

Correct Answer: 70

Candidate Answer: 70

QID : 42 - Out of the total pens, 10% of pens are black. 10% of remaining pens are blue. 20% of remaining pens are red. The remaining 648 pens are green. How many
total pens are there?

Gl dhetdl | Y 10% et ahel! & | A chetdl § & 10% fieft &1 T2 AW Herdl 7 & 20% A1 &1 S g3 AV 648 T gt &1 Tt chetd a1 &7
Options:

1) 1000

2) 1500

3) 2000

4) 2500

Correct Answer: 1000

Candidate Answer: [ NOT ANSWERED ]

QID : 43 - A number is increased by 18%. To obtain the old number, by how much percentage should it be decreased?

Yok TEIT Y 18% T FEIAT AT YRIT AT UTed het o forg, I fohat ufarsra @ weran smg?

Options:

1) 16.88

2)15.25

3)17.3

4) 14.28

Correct Answer: 15.25

Candidate Answer: 15.25

QID : 44 - Two men are standing on opposite ends of a 1000 metres long bridge. If they walk towards each other with speeds of 20 m/s and 5 m/s respectively, then
how much time (in seconds) will they take to meet each other?

3 @fth 1000 Hiex I ok G o Aol fhRl )R @S €1 afe 3 shmam: 20 #1./8. a1 5 #1./3. & i & Gor g ol $TR o1 URY &, df & 3199 | e | fohe=m 9w (Sepvst #)
e
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Options:
1) 50

2) 30
3) 40
4)60

Correct Answer: 40
Candidate Answer: 40

QID : 45 - A man goes to a place at a speed of 80 km/hr and comes back with a different speed. If the average speed is 32 km/hr, then what is the return speed (in
km/hr)?

Uk Ak 80 fob. #fY. /et it 7ify & foreft weh T R ST & e e {9 nfd & aru sirar &1 afe ofiwa nifa 32 o+t /eer &, at araw s wwa nfa (fo. . /€er &) @ &2
Options:

1)25

2) 22

3)20

4)24

Correct Answer: 20

Candidate Answer: 20

QID : 46 - What is the simple interest (in Rs) on a principal of Rs 1800 at the rate of 8% per annum for 3 years?

1800 T o HTeH TR 8% Thi aTideh X & 3 TN ol HIYRUT T (T H) T 82

Options:
1) 420

2) 432
3) 440

4) 380
Correct Answer: 432
Candidate Answer: 432

QID: 47 -

The bar chart given below shows the number of mobile
phone thefts in 2 cities Delhi and Jaipur from month
February 2015 to June 2015.

e T 71T gus RF & A wEd 2015 F ST 2015
Hmzargﬁ%ﬁﬁammgtﬁaﬁrgwmmm
T TEAT F AT A B

B Delhi / f&welr 0 Jaipur /ST
.
.gE 800 (= s §g OE g o9
S® 6001 30 52 28 53
§.45 400 =
Eg 200
Y=
8 0 T T T T 1
gE S~ N~ ey S~ S~

> = = > @
- 1% §F 2 EX 5k
4 S =

[+3)

(I

Month / AT

For how many months, was the number of mobile phones thefts in Jaipur higher than that in Delhi?
R w1 §, SqR & 91 §¢ Aiarsd hiHl 6 T ool § oifde oft?

Options:

15

2)4

3)0

4)3
Correct Answer: 4
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Candidate Answer: 4

QID:48-

The bar chart given below shows the number of mobile
phone thefts in 2 cities Delhi and Jaipur from month
February 2015 to June 2015.

e fgw 71 gus R 7 A wEd 2015 & S 2015
ﬁzemﬁﬁ%?rammgrﬁ?hﬁgvmmuﬁ;ﬁ
$r FEaT Fr gRET 1w T

& Delhi/ f&=eir 0 Jaipur / STTR
7]
(-4}
= o
.EE 800 = §$ og g 08
2" 6001 30 52 28 T3
§.4’3 400 =
EE 200
=
= 0 . .
gE S~ b S~ S~ )

> = E > )
s gE ck 3¢ §1§' £k
4 S

[+}]

(V'

Month / A1g

What is the percentage change in the number of mobile phones thefts in Jaipur from February 2015 to April 2015?

TRERY 2015 § 37t 2015 deh, STAYR A 91t §Q AETSd Hil ot et § ufasrd uRed= @1 82

Options:
1) 66

2)15.15
3)12.94

4) 50
Correct Answer: 12.94
Candidate Answer: [ NOT ANSWERED ]
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The bar chart given below shows the number of mobile
phone thefts in 2 cities Delhi and Jaipur from month
February 2015 to June 2015.

e T 71T gus RF & A W&l 2015 F ST 2015
aaizﬁrgﬁﬁw»ﬁammgtﬁmgumqﬁ:ﬁ
$r =TT F AT TR/ 2

B Dehi/f&eelt O Jaipur /SR

o
o
< ©
800 o2 Z© o <t oo
(= P -— D wo -0
n 0 To) oY ww
<

|

600
400
200
0 . :
=

Number of mobile phones
A B Hr FE&qT

= = 2@ o
SE tE 5E SR ER
o]
[«3}
1

Month / A1g

In Delhi, what was the percentage change in the number of mobile phones theft from April 2015 to May 2015?

feeeht 7, anfler 2015 @ 7€ 2015 o I g HiaTsad Wi I Tear # ufaerd aRed= o ar?
Options:

1) 30%

2) 28%

3) 20%

4) 25%

Correct Answer: 20%

Candidate Answer: [ NOT ANSWERED |
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The bar chart given below shows the number of mobile
phone thefts in 2 cities Delhi and Jaipur from month
February 2015 to June 2015.

e T 71T gus RF & A W&l 2015 F ST 2015
aa?zargﬁﬁwﬁamsmgtﬁaﬁ’rgumm
$r =TT F AT TR/ 2

® Dehi/fgeelr O Jaipur /SIAR

OO
E 800 o© 8% og oo
B 6001 35 5o 83 5o
€ 400 o
200

£

Month / HATg

Number of mobile phones

Aasd
o
HIadr
March /
AT
April /
May /
nE
June/
ot

February /

What was the average number of mobile phones thefts in Jaipur from February 2015 to June 2015?

TRERT 2015 § S 2015 deh, STAGR 7 IRY §Q AiaTSd WiHT i Siea T a1 of?

Options:
1) 550

2) 576
3) 408

4) 546
Correct Answer: 546
Candidate Answer: 546

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Meera has a fetish for oranges (1)/ and takes a dozen to school (2)/ every another day (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Neither mother (1)/ nor the boys (2)/ was going to the party (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 2

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

There are plenty of people suffering with disease called asthma.
Options:

1)a

2) an

3) the

4) No option is correct.

Correct Answer: the

Candidate Answer: a
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QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

I have
Options:
1)a

fetish for some specific fragrances.

2) an
3) the

4) No option is correct.

Correct Answer: a

Candidate Answer: a

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Longing

Options:

1) Change

2) Fortitude

3) Fast

4) Yearning
Correct Answer: Yearning
Candidate Answer: Fortitude

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Embezzle
Options:
1) Remunerate

2) Clear
3) Balance

4) Misappropriate
Correct Answer: Misappropriate
Candidate Answer: Clear

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Exude

Options:
1) Ooze

2) Overflow
3) Wither

4) Evaporate

Correct Answer: Ooze

Candidate Answer: [ NOT ANSWERED |

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Capable

Options:

1) Deserving

2) Palpable

3) Inept

4) Incognito
Correct Answer: Inept
Candidate Answer: [ NOT ANSWERED |

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Brief
Options:
1) Efficient

2) Evident
3) Elaborate

4) Educate
Correct Answer: Elaborate
Candidate Answer: Elaborate
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QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Barren
Options:
1) Desert

2) Depleted
3) Fertile

4) Arid
Correct Answer: Fertile
Candidate Answer: Fertile

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Kill two birds with one stone
Options:
1) To accomplish two different things at the same time

2) To fail at both things
3) To achieve nothing in life

4) To kill someone with a stone
Correct Answer: To accomplish two different things at the same time
Candidate Answer: To accomplish two different things at the same time

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To come clean

Options:

1) Cleaning a place

2) No idea about an incident

3) To make a honest disclosure
4) To deny the crime

Correct Answer: To make a honest disclosure
Candidate Answer: To make a honest disclosure

QID : 63 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement".

One should (be preparing) for the challenges in life.
Options:

1) be ready

2) be prepare

3) be prepared

4) No improvement

Correct Answer: be prepared

Candidate Answer: be ready

QID : 64 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement".

You must to do your assignments, (mustn’t) you?
Options:

1) shouldn't

2) must

3) ought

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

QID : 65 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

an elaborate musical composition for full orchestra, typically in four movements, at least one of which is traditionally in sonata form
Options:

1) Sound

2) Symphony

3) Melodious

4) Musical
Correct Answer: Symphony
Candidate Answer: Musical

QID : 66 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

a thing that is not genuine
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Options:
1) Fake

2) Honest
3) Interesting

4) Intriguing
Correct Answer: Fake
Candidate Answer: Fake

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Willngness

2) Willingness

3) Villingness

4) Vilingness

Correct Answer: Willingness

Candidate Answer: Willingness

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Grawity

2) Gravity

3) Gravitty

4) Graveety

Correct Answer: Gravity

Candidate Answer: Gravity

QID : 69 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

Tanya's

P- is the reason behind
Q- her popularity

R- great sense of humour
Options:

1) QRP

2) RPQ

3) PQR

4) QPR

Correct Answer: RPQ
Candidate Answer: QPR

QID : 70 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

The brave

P- soldiers on the border
Q- from all enemies and threats
R- save us

Options:

1) QRP

2) RPQ

3) PQR

4) PRQ

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 71 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Think of the Taj Mahal and a gleaming marble monument comes to the . But if you look closely, you'd that the marble is not the gleaming white as it
was. The burning of waste from the city of Agra, where the Taj Mahal is , is leading to the deposit of fine particles of matter on the monument. Over the past
many , the Taj has been losing its shine due to Agra’s pollution. The government too has tried various things, such as not too many vehicles near the

monument and even applying pastes to the marble walls to get the stain off.

Think of the Taj Mahal and a gleaming marble monument comes to the
Options:

1) grind

2) side

3) mind

4) need

Correct Answer: mind

Candidate Answer: [ NOT ANSWERED |

QID : 72 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Think of the Taj Mahal and a gleaming marble monument comes to the . But if you look closely, you'd that the marble is not the gleaming white as it
was. The burning of waste from the city of Agra, where the Taj Mahal is , is leading to the deposit of fine particles of matter on the monument. Over the past
many , the Taj has been losing its shine due to Agra’s pollution. The government too has tried various things, such as not too many vehicles near the
monument and even applying pastes to the marble walls to get the stain off.

But if you look closely, you'd that the marble is not the gleaming white as it was.
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ofy
3) throat
4) gloat

Correct Answer: note
Candidate Answer: [ NOT ANSWERED |

QID : 73 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Think of the Taj Mahal and a gleaming marble monument comes to the . But if you look closely, you'd that the marble is not the gleaming white as it
was. The burning of waste from the city of Agra, where the TajMahalis_______, is leading to the deposit of fine particles of matter on the monument. Over the past
many , the Taj has been losing its shine due to Agra'’s pollution. The government too has tried various things, suchasnot______ too many vehicles near the
monument and even applying pastes to the marble walls to get the stain off.

where the Taj Mahal is , is leading to the deposit of fine particles of matter on the monument.
Options:
1) stand

2) locate
3) located

4) locating
Correct Answer: located
Candidate Answer: [ NOT ANSWERED ]

QID : 74 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Think of the Taj Mahal and a gleaming marble monument comes to the . But if you look closely, you'd that the marble is not the gleaming white as it
was. The burning of waste from the city of Agra, where the Taj Mahal is , is leading to the deposit of fine particles of matter on the monument. Over the past
many , the Taj has been losing its shine due to Agra’s pollution. The government too has tried various things, such as not too many vehicles near the

monument and even applying pastes to the marble walls to get the stain off.

Over the past many the Taj has been losing its shine due to Agra’s pollution.
Options:
1) ears

2) years
3) fears

4) cheers
Correct Answer: years
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Think of the Taj Mahal and a gleaming marble monument comes to the . But if you look closely, you'd ________ that the marble is not the gleaming white as it
was. The burning of waste from the city of Agra, where the TajMahalis________, is leading to the deposit of fine particles of matter on the monument. Over the past
many , the Taj has been losing its shine due to Agra’s pollution. The government too has tried various things, suchasnot_____ too many vehicles near the
monument and even applying pastes to the marble walls to get the stain off.

The government too has tried various things, suchasnot_____ too many vehicles near the monument

Options:

1) firing

2) marrying

3) having

4) giving

Correct Answer: having
Candidate Answer: [ NOT ANSWERED |

QID : 76 - Which of these crops was NOT known by the people of the Vedic period?

T 9 fora thaet o1 T AR hret o AT et @l AT ?
Options:

1) Barley

S

2')wWheat

3) Rice

Elca)

4) Tobacco

BISICY

Correct Answer: Tobacco
a3

Candidate Answer: Tobacco

BIEY
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QID : 77 - Where was the first Jain Mahasabha held?

U S T ST SUTTST gl gair AT ?

Options:
1) Pataliputra

2) Vallabhi
eareft

3) Abu

ST
4) Pavapuri

Correct Answer: Pataliputra

Candidate Answer: Pavapuri

QID : 78 - The international date line is called

SRt fafe @1 g & |
Options:

1) 00 latitude

00 arariar

2) 00 longitude

00 281

3) 66%0 latitude

6670 Jrariar

4) 1800 longitude

1800 2aricR

Correct Answer: 180° longitude
1800 Farier

candidate Answer: 180° longitude
1800 &sricR

QID : 79 - The landscape formed by the erosion work of river is

Y & IR S § T WATRHIT gl

Options:
1) Delta
sl

2) Flood plain
16 ol AeH
3) Gorge

TSt

4) Natural embankment
dqesy

Correct Answer: Gorge

st

Candidate Answer: Delta

QID : 80 - Who was the temporary president of the Constituent Assembly?

Tfaem gur & SRt sremef A & ?

Options:
1) B.R Ambedkar
l.TR. e
2) Dr. Rajendra Prasad
1. g TS
3) Sachidanad Sinha

= Rl

4) K.M. Munshi
&.gm.gef

Correct Answer: Sachidanad Sinha

T

Candidate Answer: Sachidanad Sinha

T

QID : 81 - Which special provision of Indian Constitution has been taken from the British Constitution?

I T AT T AR Gfge § e dium S armar g?

Options:
1) Parliamentary system
i PLIciE

2) Federal system

3) Fundamental right

Tl ifder

4) Supreme judiciary
AraTieiehT

T
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Correct Answer: Parliamentary system

T ToTett

Candidate Answer: Parliamentary system

TR voTett

QID : 82 - Soft Currency refers to

o et & areaf & _ [

Options:

1) The currency whose supply is less than demand

Ig HgT foreehY Smgfe #iT Y srder e gt

2) The currency whose supply is more than demand

g HgT forgehT Smmyfef /i i srder sifde gt

3) That currency whose supply and demand are both stable
g HgT forgehy Smyfct qur #i =l fR g

4) No option is correct.

Correct Answer: The currency whose supply is more than demand
g HgT forgeht Smmyfef /i i srder sifde gt
Candidate Answer: [ NOT ANSWERED ]

QID : 83 - When was the Life Insurance Corporation (LIC) established?

R sfte i fmm (LIC) &t <emae e g% ?

Options:
1) In 1956
1956 &

2) In 1944
1944 %
3) In 1950
1950 &

4) In 1947
1947 %

Correct Answer: In 1956
1956 &

Candidate Answer: [ NOT ANSWERED ]

QID : 84 - Which of the following element is NOT radioactive?

frafafEa & @ o e feaiefrae 7@ =8 82

Options:
1) Astatine

2) Francium

3) Tritium

4) Zirconium

SeitaH

Correct Answer: Zirconium

Candidate Answer: Astatine

QID : 85 - The base which is soluble in water called

St & eferefier 97 (Base) g g [
Options:

1) Acid

31

2) Alkali

&R

3) Salts

dqur

4) No option is correct.
g oft fdepey Tt 2T &

Correct Answer: Alkali
&R

Candidate Answer: Alkali
&R

QID : 86 - Newton's gives definition of force.

TARI ORI oMt Ak )

Options:

1) first law of motion
i & ugat Fm g

2) second law of motion

TR & g e @

3) third law of motion
T & AR e @

4) gravitational Law
faa @
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Correct Answer: first law of motion

nfa & uget Fram @

Candidate Answer: first law of motion

fa & ugat Fram &

QID : 87 - Which of the following doesn't have kinetic energy?

fFfafaa 3 9 frad nfas sof adi §2
Options:

1) Fired bullet

Teft g8 Meft

2) Running water

EaT gt u

3) Working hammer

TeTdT g geiter

4) Stretched bow

& gom aqw

Correct Answer: Stretched bow
&= gom agw

Candidate Answer: Stretched bow
& gom aqw

QID : 88 - What is a mushroom?

TR T ?

Options:

1) Fungus
hch

2) Plant
dier

3) Animal
RRS

4) Bacteria

Correct Answer: Fungus
helch

Candidate Answer: Fungus
hdch

QID : 89 - The outer cover of plantcelliscalled |

T chifRAehT T T qTEL HERUT gl |

Options:
1) cell membrane
Rl

2) Cell wall
EARCARRIE
3) Tonoplast
e

4) Endoplasmic reticulum
3: et

Correct Answer: Cell wall
R

Candidate Answer: cell membrane
<

QID : 90 - Under which branch of the Science is the study of bones done?

31T oh1 Srega famT Y foher STRa & Sferta foham STaT & 2
Options:

1) Orology
SRIATST

2) Osteology
st
3) Serology
GRYATSH

4) Geology
forgiersty

Correct Answer: Osteology

Candidate Answer: Osteology

QID : 91 - Flood can be prevented
Eiceal 3T ST GehaT &1

Download More Papers From GovtJobsAlert.In



. Download More Papers From GovtJobsAlert.In
ions:

1)pby making slope on land

YA Dl STEGR TATHY

2) by removing the water cover

STeT STTaROT i EeTeh

3) Cutting of forests

Il hl FHIehe

4) By making a dam on the rivers and planting trees

ARt uR Sy SRR g geTRIuT dReh

Correct Answer: By making a dam on the rivers and planting trees
Afea R aty IR I g

Candidate Answer: By making a dam on the rivers and planting trees
et R sy IR 7 g

QID : 92 - 1024 Byte is equal to .

102498 SRR 3
Options:

1)1TB

18 &t

2)1GB

1 sft &t

3)1MB

1ot

4) 1 KB

1&H

Correct Answer: 1 KB
1 &t

Candidate Answer: 1 KB
1

QID : 93 - Number of players in each side in the game of Kabaddi is

FHag! & Gl A e Uer A fenfSal &t der Bt 81

Options:
15

Correct Answer: 7
Candidate Answer: 7

QID : 94 - On which subject is the book "Arthashashtra" written?

el o frwr o) foret € qeden 87

Options:

1) Economy
31

2) Monarchy
ST

3) Politics
o

4) Literature
Correct Answer: Politics

Candidate Answer: Politics

QID : 95 - When was the Rashtriya Vayoshri Yojana started?

AT atef TS T URE el gaTT?
Options:

1) April 10,2016

10 31T, 2016

2) March 5,2017

5914,2017

3) April 1,2017

1 318, 2017

4) October 8,2016

8 3rager, 2016

Correct Answer: April 1,2017
1 i, 2017

Candidate Answer: [ NOT ANSWERED ]

QID : 96 - G. S. Ohm is the discoverer of the following?

St ga. i fafafea @ @ foredh @terendl 82
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1) Law of Electrostatic Attraction
3TeRyoT

2) Photoelectric effect

yeRTar fAegd ware

3) Law of Electric Resistance

fagga uforte ot fad

4) Thermionic Emission (Electrons emitting from hot-source)

Uit gl (Sw-Hia § gedeH ITo)
Correct Answer: Law of Electric Resistance
frega ufoRter ot femr

Candidate Answer: Law of Electric Resistance

farega wforter @t faw

QID : 97 - To which state is the "Sua" dance related?

"gan" e Ry Iow @ Teifda 87
Options:

1) Chhattisgarh

EEisur

2) Odisha

iy

3) Maharashtra

HERTY
4) Rajasthan
ISTRAT

Correct Answer: Chhattisgarh

Candidate Answer: Chhattisgarh
ERinur

QID : 98 - In which field is the Dhanvantari Award given?

IR QREHR [h &5 # UeT e ST 82
Options:

1) Social sector

RIEIsET

2) Medical field

fafhear &

3) Agricultural sector

4) Space field

SaRer &
Correct Answer: Medical field

Candidate Answer: Agricultural sector

QID : 99 - Which country is associated with the "wet foot-dry foot" policy of America?

AReRT Y "detpe-grite” ifa o ey e 3 @ ST 87

Options:
1) Iraq
ENED

2) Mexico
AfaRyeRt

3) Cuba

EieSU
4) Britain
e

Correct Answer: Cuba
LSl

Candidate Answer: Britain

QID : 100 - Which is the longest river in Pakistan?

ke Y Tag el 7Y Bt I 82
Options:

1) Sutlej River

Fetot AEY

2) Chenab River

e &

3) Indus River

IGEEE

4) Jhelum River

Fo &

Correct Answer: Indus River
g &

Candidate Answer: Chenab River
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